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3 iiArE KE BF KH FE 3:27.34
=218 HULF  ERHE EK

4 iR M BR LA BR 3:28.24
TE BF HX E#E

5 & mE FZohn ER FYA 3:40.88
WEO E# AP X

6 EHEY77 HR X#xX F=ZFE ELF 3:42.50
EN OE O OENF

7 MR 2E HBE TH BHE 3:45.91
Tk B LE tE\

8 MMAKSH A X FEER ER 3:50.96
B B Lig ES

9 R Ff BE B oHL 3:51.06
s THZE #HE =Kk

10 =) HE ME MNMFEMFE 3:57.11
K #FE  [RHA FK

11 2H ® R M HEF 4:00.50
INR BHE O HE EIW

12 4B Bl EE  FHU B4 4:08.32
Nt KB HE R

13 1ERE IMNE B NE R 4:08.55
K Kb B BX

7k BR /R ELRE IMNE L DQEAEBIIEEA
R EBE Rk BiR{E
&AL -k RE BE FHh F=x DNS

TEM BN TER HifE



BEFRE REVRICEVTARDEEILNAEREOSVWF—LELLLT D)

B3z K £ B (B4)) 4 Ba B =
1 3 64.0
2 & 64.0
3 E 54.0
4 EBBHHIF7 49.0
5 WMEARSGH/INER 38.0
6  HiM 34.0
7 2F 32.0
8 JkBH 31.0
9 EJI 25.0
10 2£m/| 18.0
11 deld 16.0
12 AE 14.0
13 FERAE-MiREE 14.0
14 GHE 12.0
15 M 11.0
16 1& 9.0
17 EERE/NER 9.0
18 tiFg 6.0
19 REF 1.0
20 FI 1.0

kFRE (REBRICEVTRARDESRILEHEABRDOSVNF—LELLETD)

B3z K& B (B4)) 4 Ba %=
1 E 52.0
2 it 41.0
3 Z£MH 36.0
4 5KBH 36.0
5 HE 33.0
6 ZF 32.0
7 R 31.0
8 ZiR 28.0
9 THYI77 28.0
10 AR 25.0
11 WARSH 22.0
12 EJI 22.0
13 B 19.0
14 =) 17.0
15 dbd 16.0
16 1& 15.0
17 R¥ 6.0
18 ERE/NER 5.0
19 MWmE 2.0
19 RERAL-VNEIRES 2.0
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